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MASTER'S DEGREE IN SOCIAL WORK (MSW) 

Term-End Examination 

December, 2013 

MSW-004 : SOCIAL WORK AND SOCIAL 
DEVELOPMENT 

Time : 3 hours 	 Maximum Marks : 100 

Note : 	(i) 	Answer all the five questions. 
(ii) All questions carry equal marks. 
(iii) Answer to questions 1 and 2 should not exceed 

600 words each. 

1. Discuss the three models of development. 	20 
OR 

Define sustainable development. Explain its 20 
various dimensions. 

2. What is social advocacy ? Discuss the stages or 20 
steps in the process of fighting for the rights of 
the victimized. 

OR 
Analyse the Juvenile Justice (care and protection 20 
of children) Act, 2000. Support your answer with 
examples from your field. 

3. Answer any two of the following questions in 
about 300 words each. 
(a) What are the three models of 10 

industrialisation ? 
(b) Enumerate the main features of human 10 

development. 
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(c) Differentiate between 'traditional' and 10 
'modern' society. 

(d) Explain the demographic transition theory. 10 

	

4. 	Answer any four of the following questions in 
about 150 words each : 
(a) Discuss the impact of RTI on professional 	5 

social workers. 
(b) Explain the new economic policy. 	 5 
(c) List out the fundamental rights as 	5 

guaranteed under the constitution in your 
country. 

(d) What are the basic linkages between social 	5 
work and human rights ? 

(e) Briefly discuss empowerment as a process. 	5 
(f) Enlist the steps which are usually followed 	5 

in the case of cognizable offence. 

	

5. 	Write short notes an any five of the following 
questions in about 100 words each : 
(a) Features of urban society. 	 4 
(b) Human development index (HDI) 	 4 
(c) Public interest litigation (PIL) 	 4 
(d) Liberalization 	 4 
(e) People's participation 	 4 
(f) Millennium Development goals 	 4 
(g) Gender and development 	 4 
(h) F.I.R. 	 4 
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